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LINGUISTICS
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all the questions.

1.  The basic design features of Language are :
(A) Duality and semanticity (B) Innateness and cultural transmission
(C) Arbitrariness and duality (D) Arbitrariness and productivity

2.  Paradigmatic relationship refers to :
(A) Substitutional relationship (B) Process relationship
(C) Co-occurrence relationship (D) Sequential relationship

3.  The order of Developments in the writing systems can be described as one of the
following :

(A) Logographic, Logosyllabic, Syllabic, Alphabetic
(B) Alphabetic, Syllabic, Logosyllabic, Logographic
(C) Syllabic, Logosyllabic, Logographic, Alphabetic
(D) Logographic, Alphabetic, Logosyllabic, Syllabic

4. Communicative competence reflects :
(A) the native speaker’s knowledge of his language
(B) the appropriate use of language in an appropriate situation
(C) the utilization of speaker’s competence for better a communicative act
(D) Linguistic and social strategies employed by the native speaker

5.  Match the items in List-I with List-II and select the correct answer from the codes given
below :
List-I List-I1
(a) Sociolinguistic patterns (i) Zellig S. Harris
(b) Language (i) Louis Hjelm Slev
(c) Prolegomena to the theory (iii) William Labov
of Language
(d) Structural Linguistics (iv) Leonard Bloomfield
Codes: (a) (b) (c) (d)
A) (i) () (@ 0
B () @) () )
(©) (@v) (@) (i) (i)
® O O )
6. Lexicology refers to :

(A) the science of dictionary making

(B) the study of lexemes of a language
(C) the lexical patterning of a language
(D) the overall study of a language’s vocabulary
7.  Japanese ‘kauji’ script is :
(A) Syllabic (B) Logographic
(C) Alphabetic (D) Syllabic-alphabetic
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RILIRCEI]

AU —11
A : T TS | e (50) dg-foahedta U9 €1 U U9 6 S (2) 31k €1 |elt Ul o 3w
S |
1. T 6t A STFehedT o stfiaer &
(A) S qen stfcehd (B) TSt a2l Hieghiden Tuol
(C)  argfesear ae gaar (D)  =Tgfesehdt a8 Scargenal
2. Uufemifes Tl @ s T
(A) AT, T2 (B)  UfhaTCHeR Tl
(C) H&-TANTHS Tl (D) gEcTE T

3. fafa sgawensii & fasma %9 %1 9o f=gaR g
(A) UR-Ta=icHsh, Tes-3Teiieh, e, affs
(B)  =ififen, aTeiiien, wes-aTeifies, wee—femgreaen
(C) sneien, Wes—3T1&Ieh, Wea-Ta=erHsh, i
(D) vrss-Ta=TcHsh, afuish, Teg—T1&Ifeh, STaten

4. Y90 & SR R R
(A) 7O AT S TIT-
B) SUgw IR H SUH WIHI- TR
C) oIh1 sl | &1 o & HYUUT S < B STANT
D) 7o TSt g U IR Te SritSieh i bl

5.  difcterr-1 st Wel o difereRt-11 i #ei ¥ gAfad wifey 3k ed #ie & ¥& S g

(
(
(

AfeteRT-1 ArfetehT-11
(a) e ferrafies feis () Sifem oy, fE
(b) <FEAS () T T
(c) UIeHTAT T &A1 o1 feiftafesd (iii) faferzm Tera
(d) wFa fafatesd (iv) foamTe smwics
®<: (@ () (o (d)
(A) @) (@Gv) @) ()
B) @) @) @ (@0
(C©) (@(v) (i) (i) (iii)
O O @ @v) (i)
6. e fomm § ememE ¥
(A) =it T 1 o (B) o1 o hiRiTAl <hl ST
(C) o1 sl shiRf SAFTE (D) T o ¥7eg FHE ol HHY AT

7. SO ST (kanji) fafa g
(A) sTEfen (B) wsg-feeremsh (C) iR (D) sneep-anfish
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10.

11.

12.

13.

14.

15.

The distinction between language and dialect is generally made on :
(A) individualistic grounds (B) geographical grounds
(C) lexico-phonetic grounds (D) socio-geographical and linguistic grounds

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-I List-II
a) Language change i)  Anthropological linguistics
b) Language in society ii)  Psycholinguistics
c¢) Language in mind iii) Historical Linguistics
d) Language in culture iv)  Sociolinguistics
Codes: (a) (b) (c) (d)
(A) ) G (i) ()

(
(
(
(

(B) (i) (iv) (D) ()
(©) @@ @ (v) (i)
(D) (v) @) @ ()
Match the List-I with List-II and select the correct answer from the codes given below :
List-I List-II
(a) Dravidian (i) Magahi
(b) Tibeto-Burman (i) Korku
() Indo-Aryan (iii) Apatani
(d) Austro-Asiatic (iv) Kota

Codes: (a) (b) (c) (d)
(A) (v) () (1) (i)

(B) (i) (iv) (i) (i)
(© G @ @) @)
(D) @) (@) @v) (i)

The term pattern congruity applies to one of the following :
(A) [pdtnmk] (B) [pphtthkkh] (C) [pphtdkgl (D) [pbtkcj]

In the sentence : Ram went to the market with his sister, the case marker with is an
example of :

(A) Dative (B) Comitative (C) Ablative (D) Locative
Which of the following refers to “manners of articulation” ?

(A) Labiodental, velar, nasal (B) Plosive, nasal, netroflex

(C) Trill, affricate, nasal (D) Trill, palatal, affricate

Vocoids are sounds which :

(A) are produced by a free flow of air

(B) are produced with egressive air mechanism
(C) have some friction in the oral cavity

(D) lack any narrowing or constriction

Continuants include :
(A) Plosives, nasals and vowels (B) Fricatives, trills and affricates
(C) Vowels, semivowels and fricatives (D) Vowels, fricatives and laterals
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8. oo IR Sl o A=l W= =T STTem oX wenfie foran S @ :

(A) SAfHH TR (B) siriifereh sHR
(C) <RIt TE eafeh STHR (D)  THTTSIR- HRTfoTeh qe wifies TR
9.  difcreRt-1 st WEl ot drferent-11 i #al ¥ Afed swifse R fF=fafed & we @ 98 sw g
arferehT-T ArfererT-I1
(a) o e () ol e famm
(b) TSR ST (i) AR v foRe
(c) e IR ufeTsh (iii) R W faqm
(d) o SR ESRA (iv) EHT iRt
%< : @ () (o (d
(A) (@) @) @) (iv)
(B) (i) (v) @) ()
Q) @ @ (v) (i)
(D) (@v) (@) @) ()
10. drfererr-1 st W& o1 difereht-11 st A&l § gafea it R freafafad we @ 98 sw g
arfeteht-1 arfetaht-11
(a) =g () e
(b) feaq-smt (ii) T*ll%
(c) WE-3T (iil) ~ STo
(d) em-ufoEE (iv) PR
%< : @ () (o (d
(A) (v) (D) @) ()
(B) (i) (v) () ()
Q) @ @ 3D (i)
(D) @) @) (v) (i)
11.  sifvem stfafa v e & & forelt W o Hopaah
(A) [pdtnmk]  (B) [pphtthkkh] (C) [pphtdkg] (D) [pbtkcij]
12. 3OS a9 ‘Ram went to the market with his sister’, ¥ TJw HReh-Hehash ‘with’ ST T :
(A) HHEM I (B) HEATH Ik
(C) STUIEH R H (D)  SATHhT0T e
13. T ¥ 9 =R yaei 1 Gohdsh hiF € ?
(A) T, U, TG (B) ¥, wfHery, He=A
(C)  whfua wsi-werdi, e (D)  hfud, dreted, Tagi-Herdf
14. drwEE 98 @ € S
(A) g% D YOS Y IAfCd Bt € (B) S 9] YA 5N Scdifed 2t §
(C) 7@ fo # fohfaa god S (D) TS TR 1 e el g
15. GYaR! LAfE % stid e
(A) o9, TG qe TR (B)  wereli, kit dem woei-ger
(C) T, spefeax e Ho (D) &, Herdt qer wivesh
J—3105 5 P.T.O.




16.

17.

18.

19.

20.

21.

22.

23.

24.

The scheme of cardinal vowels refer to :
(A) possible vowel sounds of language
(B) hypothetical vowel sounds to teach pronounciation

(C) a set of standard reference points for the description of vowel sound

(D) a chart for mapping vowel sounds

How many morphemes does the sentence : The boy cut the fruit yesterday contain ?
(A) 6 B) 7 (S 5 (D) 8

In the word dogs [dogz], the allomorph [z] is :
(A) phonologically conditioned (B) morphologically conditioned
(C) lexically conditioned (D) semantically conditioned

‘good : better : best” is an example of :
(A) morphologically conditioned alternation (B) suppletion

(C) phonologically conditioned alternation (D) infixation

Assertion (1) The morphs X and Y are morphemes if they are in contrastive
distribution.

Assertion (2) The morphs X and Y are morphemes if there is no phonetic
similarity between them.

(A) Both (1) and (2) are true (B) Only (1) is true

(C) Only (2) is true (D) Both (1) and (2) are false

In the sentence : We met those people while teaching the children, the expression

teaching is :
(A) an adjective (B) averb (C) agerund (D) an imperfect participle

In the sentence : Kamala kept the books on the table, the verb keep is subcategorized
for :

(A) one argument (B) two arguments
(C) three arguments (D) no argument
PRO is :

+ governed — governed
(A) 5 (B) &

— case marked — case marked
© + governed (D) — governed

+ case marked + case marked

A grammar that correctly describes the intrinsic competence of the idealised native
speaker is :

(A) observationally adequate (B) descriptively adequate
(C) explanatorily adequate (D) internally adequate

J—3105 6



16. AR W acad €1
(A) 7o 1 Herferd ToR Eaf-a
(B) S=mur-faien =g Ifehfoud wR-tafTai
(C) TR wafwi & oui 7q il dres dew forgatl o1t wq=
(D) R ATl o @i &g T 91
17. 3N 91 ‘The boy cut the fruit yesturday’ - T e =9 €2
(A) 6 B 7 <© 5 (D)

18. ’dogs’ [dogz], Wk H, e [z] © :

(A) ot gfpan gl (B) &9 T Wiifera
(C) w9 yfqaiferd (D) sref-wfafed
19. ‘good : better : best’ ST § :
(A)  EHRFA Hfasitd gierd= & (B) &Il
(C) =&t ke gfdsifed afterd= = (D) HEA-Y h

20. 2afyeRed (1):  ®YXdAY ®uH € afg 3 Al faawor & §)
AfRAT (2) : TYX TN Y FH € AfE STH FE ea=aned: GHEG TR §
(A) T (1) T2 (2) T & (B) W (1) TAT
(C) ot (2) AT (D) M (1) 7 (2) 318 &

21. 37USHa : We met those people while teaching the children, teaching is :
(A) oo (B) (C) Franed® g (D)  STqUishTcTeh e

22, 3fSiare : Kamala kept the books on the table, H 631 keep 3ushife &d ¢ :

(A) T SRTHE (B) W
(C) i smHe (D) I STELHS T
23. PRO®:
L fEds T [ _ lEde T
(A) _ ohY HINS (B) _ ohY HINS
L TEds T ~ _  Eds T
©) L ohd HIas (D) L oY Hlas

24, ATHI S Ueh Y5 Mo THT oht ST=ifeh itk S&a1 bl SHfed S ol ©, 98 :
(A) He: SUTH § (B)  ouiTcHe SUgH §
(C) cATEAH ST § (D) s=af gfe & ST §

J—3105 7
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25.

26.

27.

28.

29.

30.

31.

Match items in List-I with List-II and select the correct answer from the codes given
below :

List-1 List-1I
. [+ Anaphor
() Pronouns (0 | — Pronominal |
- [— Anaphor
(b)  Anaphors (i) | — Pronominal |
' ' [+ Anaphor
(c) Referential Expressions (iii) |+ Pronominal |
‘ [— Anaphor
(d) PRO (i) | +Pronominal |
Codes: (a) (b) (c) (d)
(A) @) @ 0 ()
(B) (v) (@) () (i)
© @ (D) (v) (i)
(D) G) (v) (i) ()
In the sentence : All men are born equal , the words all and equal respectively are :
(A) a quantifier and an adverb (B) a quantifier and an adjective
(C) an adjective and an adverb (D) an adjective and a quantifier

In the sentence : The examination which Gopal gave sweets to the children who passed
was tough is ungrammatical because it violates :

(A) the coordinate structure constraint
(B) the sentential subject constraint

(C) the identical subject constraint

(D) the complex noun phrase constraint

The sentence : They are agreeing with us is ungrammatical in English because the verb

agree is :
(A) [~ transitive] (B) [+ transitive] (C)  [+stative] (D)  [-stative]

‘Part-whole’ relationship is labelled as :
(A) homonymy (B) hyponymy (C) antonymy (D) synonymy

In the sentence : John regrets that he could not go there , the verb regret.
(A) asserts that the statement is correct

(B) presupposes the truth of the complement

(

(

C) does not presuppose the truth of the complement
D) does not assert that the statement is correct

Assertion (A) : William Jones was the first one to have observed, the relationship
between Sanskrit and other Indo-European languages.

Assertion (B) : English does not belong to the Germanic group of languages.

(A) Both (A) and (B) are correct (B) Both (A) and (B) are not correct

(C) (A) is correct but (B) is wrong (D) (A) is wrong (B) is correct

J—3105 8



25.

26.

27.

28.

29.

30.

31.

J—3105 9

dTfershT-1 &t A& ol Aferehl-11 ot Al § Gafed shiferg 31k 9ed e § Tel S 1 99 i |

arfetent-1 arfetent-11
- _
(a) HFTH (i) YA
— B . f—
(b)  FHR (ii) YA
| — L, -
(c) TR THRIERTS A TR IERTY
— B . p—
(d) dema. (iv) PR
%< : @ () (o) (d)

(A) @) @) @ (@)

®)  Gv) @) @) (i)

© @ (@) @v) (i)

(D) @) (@v) @) @)
GT’j?ﬁW:Allmenarebornequal,'Efa_ll?fﬂﬂgu_alwmz%:
(A)  afmToreTeeh qer ha fargret (B)  ufmrorem=reh qer foror
(C)  Torreror e fman formivon (D) forreor qen afHETER

UST a9 : The examination which Gopal gave sweets to the children who passed
was tough, TR €, FHifeh Tg SHAT HT © ¢

(A) “HoATER TR F (B) I T F
(C) “emefechet HaiaRe Hige” (D) “eHreaeiag 37 Tl Hige

TS a1 : “They are agreeing with us” ST ©, Fifh a1 agree © :

(A) [—grifes] (B)  [+grifea] Q) [+=fE] (D) [—%fe]

-l Hefy 1 e ©

(A) FAEYRAHSRA (B)  STEATHaT (C) facmmcHeRa (D) TR

Ut a1 : John regrets that he could not go there , ® 5531 regret :

(A) FeRI A © fof e 9 B (B) Y % TcH o YA HLdl 7 |

(C) Y % T T ATTHM &l I ¢ | (D) A % T T YR e Hdl 7 |

ifamed (A):  Taferam S = Fauem S5ha a0 371 YRV TIet & ote grase s sl giadied
IERIE

fireRed (B) :  SFISH, SHA WToT g W LT STt ¢

(A) (A) 3R (B) <M 5 & (B) (A) 3R (B) Il wea T §

(C) (A)H AT, (B) 379A § (D) (A)ew@ T, (B) 9 &

P.T.O.



32.

33.

34.

35.

36.

37.

38.

39.

40.

Unfamiliar words are modified in form and meaning based on the model of the familiar
words. This is known as :

(A) Analogical Extension (B)
(C) Back-formation (D)

Folk Etymology
Coining of a word

Chronologically geographical dialectology :

(A) Precedes studies in historical linguistics

(B) Follows studies in historical linguistics

(C) Follows studies in social dialectology

(D) Precedes studies in both historical linguistics and social dialectology

In English the word “mischievous” which has lost its strong sense of ‘disastrous” and
now means the milder “playfully annoying’. This kind of semantic change is called :

(A) Semantic amelioration (B) Semantic degeneration
(C) Semantic extension (D) Semantic contraction

The notion of language family is based on :
(A) typological similarity (B)
(C) geographical distribution (D)

a real relationship
genealogical relationship

Which of the following changes in the set violates Grimm’s Law ?
(A) b—=>p B) j— c G d—-t (D) g— k

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-1 List-1I
(a) First sound shift (i) Hermann Grassmann
(b) Regularity Principle (i) W.SY. Wang
(c) Law of aspiration-dissimilation (iii) Jacob Grimm
(d) Lexical diffusion (iv) K. Brugmann and Hermann Osthoff
Codes: (a) (b) (c) (d)
(&) (i) @) 6 @)
(B) (i) (i) (@)  (iv)
(€ (@) @) (v) (i)
(D) @ (v) (D) (i)
Dravidian and Indo-Aryan languages are :
(A) agglutinative  (B) synthetic (C) polysynthetic (D) isolating
The predicate in the dative/genitive subject construction is :
(A) [+ volitional] (B) [~ volitional]
Q [+ goal oriented] D) [- goal oriented]
The type of modal that is involved in the sentence : Let us work hard is :
(A) capabilitative (B) subjunctive (C) indicative (D) hortative

J—3105 10



32.

33.

34.

35.

36.

37.

38.

39.

40.

sTufiferd Sreal wht veg 31 31ef ot gfE | ufifd wIsai o STMHR R Fenfe o foran sman €1 59 wihan o
FEd T
(A) 9eed fasr (B) sk Hcafd (C) =TT (D) vrsg fefor

HIeTh e g | iifers sieft fomm :

(A) Ui v foqm o STe2@e | qeet ©

(B) Uferfees W formm o s1eem | wwerd @

(C) Tk sifer forqm eieft STeerer o STFERo il §

(D) fqeifass v fomm qen SR deft sSieifam & steaert w1 gaad ©

3TIIST 9158 ““mischievous’ fSTE®1 94 W ‘disastrous’ T B 1 § a09H H W% W@ “playfully
annoying’ & T 8, 98 fhH YR 1 37ef afted ©

(A) sreioeRy (B) sty (C) sreifaer (D) a1ef Hgpa
AT YRER ! HehodT o1 STER S :

(A)  STHIT Herh FHHa (B) &g Hay

(C)  sirmiferen formom (D) ScTHS Ty

Trfeafied 92 § w sF 9 9fedT i o =1 sgee o € 2
(A) b-p (B) j—oc (C) d—t (D) g—k

fershT-1 1 #al i arferehl-11 i 9al & gafaa sifse ok frefafad #e o wgd ST § 9 98 3|
il

drferent-1 Atferent-11
(a) vem waft ufgha (i) & I
(b) fepafe fagm (i) S THAE. o
(c)  wITTar ferteRior o (iii) <R fm
(d)  eeff faeo (iv) hFITHA qA1 TR
%< : (@ () (o (d)
(A) @) @Gv) @ (i)
(B) @) @) @ ()
© G) (@ (@v) (i)
D) @ (v) () (i)
gIfare qem wRdF 31 oo €
(A) AR (B) et (C) wfverm (D) 3TN
HYeH/ He¥ ShiReh hdl T 8, faga §
(A) [ +dfereme ] (B) [—dfcrerd]
(Q) [+ sfE=e] (D) [—Ta sfEmee]

ST a1 : Let us work hard # ffed gfd (modal) ¥R @
(A) Fufafeefes (B) weifeRd Q) cfekfe (D) wifes

J—3105 11 P.T.O.



41.

42.

43.

44.

45.

46.

A sociolinguistic variable is a :

(A) the set of alternative ways of saying the same thing
(B) social variation in a speech community correlating social and demographic factors
(C) fixed social communication
(D) a variety of sociolect

By diaslossia we mean use of two varieties :

(A) with functional specialisation (B) at home and office

(C) in informal situations (D) in educational institutions

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-I List-I1

(a) sociolinguistic patterns (i) R.H. Hudson
(b)  sociolinguistics (i) William Labov
(c) languages in contact (iii) Joshua Fishman
(d) sociology of language (iv) Uriel Weinreech
Codes: (a) (b) (c) (d)

(A) @ @) @) (@v)

(B) @@ @ (@v) (i)

(©) (@) @v) @@ @

(D) (v) @) @ ()

Metaphorical code-switching occurs when :

(A) the subject of discussion is literature

(B) there is a change of topic
(C) there is a change in situation
(D) the speaker wants to pass on a secret message

When two languages come into contact and influence each other without any role of
power, that influence is called :

(A) substratal influence (B) superstratal influence

(C) adstratal influence (D) none of the above

Language shift means :

(A) Shift in meaning of a language

(B) the use of native language in a non-native context
(C) sacrificing the native language for another language
(D) minimal use of native language
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41.

42.

43.

44.

45.

46.

TS - Tkt afteed & e ©

(A) T B 91 %I He o oh(cqd TR

(B) T HHGE H UH WM ad1 SHES § TeHaiyd gieed
(C) & g ISR FHwo

(D) ISR St o1 YR

fgfirerar @ arcd MM & < YRRl F AR ©

(A) &I Yemich dferses g (B) R aiR*mEiea d
(C)  eF=fe Tl (D) iferes st |
ifersRT-1 i W&l o arfereR-11 &6t 931 & gafera sifse ok feafafad g @ @@ s g
arfeteht-1 arfetahr-11
(a) EESIIY T (i) SRT=. TSEH
(b)  HHSIWIY &l (ii) faferm &
(c) HHIhRNTA | (iti)  SirgeT freEa
(d) T HHS (iv) I I
% : @@ (b () (d)
(A) @ @) @) ()
(B) G) (@@ (@v) (i)
Q) () (@v) @) ()
(D) @v) (@) @ (i)
BUHHS 2 qRad Hfed A1 g, el
(A) ardram = faw wfe & (B) o & ufted =
(C) uRfearfa # ufted= & (D) % IS TH W <1 =l &

T S 9T T S ¥ SR U gE SRl gfad Rt § SR 39 T (WTeR) 1 IS ANEH A 2,
Y GUTE i TITH Tohan ST ©

(A)  SU={F g9 (B) Afereda gwra
(C) el g (D) SH® H Q HIE T
o Ry & SE €

(A) o 31ed | ufgfa

(B)  TIq—ITHT 3T SR AIGHTSTA Gl § FmT
(C) 3174 91 ¥ HIGHT 1 1T

(D) WIS <Rl STETTH FET

J—3105 13 P.T.O.



47.

48.

49.

50.

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-I
(a) Proficiency tests (i)
(b) Achievement tests (ii)

List-1I
to determine how much of L, a learner has mastered

to find out what a student still has to learn in a
language

(c) Diagnostic tests (iii) to determine how much of a particular course of a
study has been mastered
(d) Prognostic tests (iv) to try to predict to what extent a person will succeed

in learning L,
Codes: (a) (b) (c) (d)
(A) @) (@) @) (@)

—

(B) (i) (i) (iv) (i)
(© @ (@) () (@)
(D) (v) @& @) ()

Match the items in List-I with List-II and select the correct answer from the codes given
below :

List-1 List-1I
(a) Diaslossia (i) used in relatively formal, educated
situations by the upper class
(b) Communicative competence (i) change in the relative status of a
language
(c) Status planning (iii) the appropriate use of the appropriate
language in an appropriate situation
(d) Elaborated code (iv) the use of two speech varieties with High
and Low codes with functional
separation
Codes: (a) (b) (c) (d)
A () @) G )
® (v ) (@ 0
© (@) (v O )
O () O (v (i)

Scribal errors :

(A) reflect the scribe’s inadequacy as a native speaker of the language
(B) indicate the complexity of a writing system

(C) prove that writing can never represent speech

(D) reflect the spoken language

‘Learning a new language is a matter of establishing a new set of habits’. This would
be the position of :

(A) the cognitive theory of learning

(B) the naturalist theory of learning

(C) the behaviourist theory of learning

(D) the advocates of psycholinguistic theory of learning
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47.

48.

49.

50.

fershT-1 T #aI ! TierRl-I1 ot 7&l & gt i iR Ffafed $e § g5 ST # 9§81 3

g

arferent-1
TifegTt o= (i)

TS T (i)

arfetent-11

T A o for fom forenfel 3 L, & et
HITCTdT UTH i

7g ST & o Top foramedt 61 e1eft fohemm
SRR e §

99 & o fou for areesny faei faamn
SR GRERIRIC

g QAIAM & & ford ff 1 =t
Fal T L, e § Tt 2

b) (o)
ii) (i) (iv)
) (iv) ()
i) (i) (iv)
i (D) (i)

(d)

i

AIfereRT-1 st Wl ! drfetehl-I1 st 7&l § gafed sifae 3R el g3 Fe & 9 S| g

A?AA
YETEZE

aferent-1
fgvmfteRan
T g&TaT
ESIARRIEE]
Afgs we

(@ () (o
A) (@) (i)
B)  (iv)
(iii)
(ii)

arfetaht-11
e e, dfere uRfeafaal § 5= o g7 v
7o <1 ETdfares feafa # uifteda
IYYH WTHT 1 S TRIeIfaa § S9gs JamT
T St I3 AT f3=1 RISl 1 gk YehITcHe TN

—_ = = =
< BB
.

R N

=25
N—"

fe I IR S IR e I R e I e
et Q-l
~— -

o~~~ o~

Q)
D)

-
iy
ey
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o e

(A)
B)

)

(
(C
(D)

T i TS o &9 H STl b1 Feiid el §

G YOIt <kl Sifeerdr st guitdt ©

I SRt § R e et off e w1 ot wfaifee TR o wenan
T o ST TIEY I ST §

TE O 1 HIGHT S T4 e e €1 T | ®

(A)
(B)
(©
(D)
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foreror & HamTeHes fagia =t
TRreqor & yhfques fagia &t
T TR % SeERam! fagid st
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